GRADE 10 ESSENTIAL
UNIT D - 2D GEOMETRY
CIRCUMFERENCE

N5

Name:

Date:

matching numbered box

d a letter. Wnte the Ietter in t
rmse (ol cnsSuUe F 'th'r

USE Why Did the Piano Player Bang Her
au ler~ Head Against the Keyboard?

the circumference (C) of each circle, given the diameter (d) or radius (r). Use
3.14 for .)Draw a straight line connecting the square by the exercise to the sq are

by its answer. The line WIII crnss a:guinlr

1]2[3[4]5]6 7 a 10 121314 [15] 16 1?
C=125.61n.
C=31.4cm
C=94.2in.
C=942cm
(5) d=9.2cme ® C=7222in.
(6) d=15in. * (2 ® ®© ® & C=301.44in.
(7) d=600m & ® @ ® C=2512in.
d=23in. ® @ ® ® ¢ C=157in.
(9) d=10cm ¢ (1) @ ¢ C=-28.888cm
(10) r=1in. ¢ C=13816cm
(i) r=6cm @2 ® ® C=157cm
(12) r=15in. 7 * C=2198cm
(13) r=22cm & ®® ®) ® ™ o co628in
(14) r=48in. * ¢ C=314m
(i5) r=39cm & ¢ C=471in.
' r=25in. * (9 @ @ ® C=3768cm
(17) r=25cm * © ® C=24492cm
r=50m @ ¢ C=1884m
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